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Subtract ten for the roof - RIRD Wy 9T

OVERVIEW

The width of the >wp 1s stated in the 770 as one and a half 7nX. However the
thickness of the o°wap (front to back) is not stated explicitly. We know that the
length of the pwn was thirty nmX (east to west) for the 77 tells us that it
contained twenty 2°w7p (11/2 x 20 = 30) on the north and south sides. The west side
of the 1pwn had six 2w p (nine M»R) and two additional 2w p which were in the
corner (partially to complete the western wall and partially to cover the thickness
of the north and south 2°w1p). The issue at hand is how much of the corner owap
completed the western wall and how much did it require to cover the thickness of
the north and south o°wp.
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In the entire discussion here, the X773 states that the (inside) width of the Jown»

was ten NIAN -
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And the "9 has a difficulty; for from where does the X923 know this (that the

width of the 1pwn was ten NaX) perhaps the width of the 10w» was eleven nnR -
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And regarding the 2°w1p we will say that their thickness was only one-half 72y -
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And the two corner 221 of the 32w» closed one ;2R of airspace on the north

and one 2R of airspace on the south -
= 097 PAY 18 DY DIVAPN 22 1335 WAPN AN NOTIYN NNN I8N

And the extra half 778 width covered the half 7nX thickness of the a2ap to the

north and south.
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And why do you see to say the opposite that that a half-72R to here (north) and
a half-7%R here (south) is to cover what is missing in the wall -

! There were 8 0w p (11/2 7nX each) for a total of 12 nnx (looking from the outside) on the western side of the 1own.
We usually assume that the inside width of the 1own was 10 ninR; The six 2°w P cover 9 nnk (6x 11/2 = 9) so there is
a half X open space on the north and south side of the western wall, which is covered by part of the two corner
owp. That leaves one more ninR for each of the corner o°w1p that will cover up the two last 2°w9p on the north and
south sides. That is if we assume that the thickness of the 2>w1p is one 8. However if we assume that the thickness
of the ow1p was %2 R, we use up only one 78 of both corner o*wnp (1/2 Ank each) to cover the north and south
WP, that leaves us with a remainder of 11 nnk (9 Nk of the 6 ow1p and 2 Nk of the corner o'w1p), the width of
the 1own can be 11 nnk. MooIn asks why choose one option over the other.
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And the remaining width of the 2R is to be opposite the thickness of the north
and south wap.

nBoIN answers:
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And the "9 answers: that we derive it from the ‘Eternal House’ (w7pn7 n°2),

which was sixty n»X long and twenty n1nX wide -
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Here also by the 1own its width is a third of its length.

SUMMARY
We know that the 10wn is ten n12R wide because in the "2 the width was a third
of its length.

THINKING IT OVER

The dimensions of the p"»12 (60x20) were different from the dimensions of the
1Pwn (30x10?7); why should we derive the measurement of the jown from the
measurement of the p"n7°2??

2 The length of the 19wn was thirty nmx (see ‘Overview’) so the width was 10 nmx (1/3 of thirty).
3 See the 0"X1 on Wyn 121 7"7 v,72 [N MW v,
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